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Al 10,500
402 QI2F X 20l & 15,000 18,750 A 3,750
& 4,500
Al 10,500
02 DIZFXIE2AIEEXZ(0IETHE ) 15,000 18,750 AN 3,750




FN: sAESHFSH
HE: SAE SSHl(sPHYLN/5Y - 58)
Sel REYUW (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OS3HI=0| CHE XM OHYOJIREIH XI& 15,000
-tHegxd=s 1,000, 000& *26JH *50/100 13,000
< 3,900
Al 9,100
-2YE 50,000& *809H x50/ 100 2,000
< 600
Al 1,400
HAZHEAE X R AS<E E> 840,000 0 840,000
< 144,000
Al 696,000
402 BIERHE 0| & 840,000 0 840,000
< 144,000
Al 696,000
02 DIt 2AIL B (01 &) 840,000 0 840,000
OHAZNMEAAE XA
1,200,000,000& x70/100 840,000
< 144,000
Al 696,000
SMNSZHAE 2Y (sl dt/sY - &) 945,950 1,375,315 AN 429,365
sMESEMHAE 29 945,950 1,375,315 AN 429,365
SOHAIE AIE2 RA2a 730,822 1,197,751 A 466,929
201 L2l 363,182 310,886 52,296
01 At 22l 52,486 46,866 5,620
O1.det==2Hl 43,286
—SMUHSEHAIE2YE det=EH]
1,800, 000& 1,800
A ALY B2 4,300,000& 23| 8,600
“HIIANAEZE FIFA =22 830,000& 830
-SOoAHAAE B3 300,000& 122 3,600
—SEUIREQANAE BT
23,000& ~12& 276
M|t ALY 2 640,000 123 7,680
-ANEE HHEH =8 4,500,000& *23| 9,000
-2+HelANE 2E A2
500,000& x12& 6,000
-HIH,28 SYI(420E) Ha
2,750,000& =23l 5,500
O4. 1] =l 980
-MI| - JIHEH SR HE=E
130,000 »3H x 13| 390
-ER3FE 590
T 2eE=E 130, 000& x2F «23| 520
223 35,0003 x2H 13 70
Ob5.= &l 6,720




2N
X ZH -
L= B

el

AERSN
AESZHAIZ 2 (s
MEEZHAE 23

5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
—SHNERS HLE2FE AAAZEXR =24
8,000 x7&Hx10L 128 6,720
O6.9x2 1,500
—COHAIZANE RS2 &Hl Xt
500,000 33| 1,500
02 232 H4| 310,696 264,020 46,676
O1.2Z22=22L Al 199,200
—SHMETHAERYG JEIZZ2R2(IIRS)
400,000& ~12& 4,800
SR 13,000,000 x12& 156,000
AT AIE S 2,700,000& x12& 32,400
—SHAMESETHAIY X2 ot Z2H 3
6,000,000 6,000
O3. A2 &HHI K X HI 111,496
-JIH 2 MI|IAIAE KX Y| 3,500,000 3,500
“COHAIE Zels A2 KA
3,2483 x3,633mM 11,800
-HI 2 HASE AS S A
3,248 x26,538m° 86,196
-&MI|Id 2 RAELH| 100, 000& 10004 &~ 10,000
202 04| 5,040 5,040 0
01 2Ll 5,040 5,040 0
OSMNEZMMAIERYE 2|
60,000& +7H *3L x4 3| 5,040
206 M = Hl 10,000 6,000 4,000
01 X2 H| 10,000 6,000 4,000
o= HHlME =Y 100,000 10 x 10 10,000
401 Al HI L £ 0HHI 346,000 875,825 AN 529,825
01 Al& b 346,000 862,000 A 516,000
OLZEArui2 Wil 50,000,000& = 14! 50,000
oA =0 &X 12,000,000 *3JH £ 36,000
OMd2&1] RUEZX ¥ YWsI A
90,000,000 x 1Al 90,000
OMAcsS N2MED = 60,000, 000& =204 120,000
OMAE &= dMD| NESHZ BAZ2A
50,000,000& = 14! 50,000
405 XHo&HF S HI 6,600 0 6,600
01 XML 2 ZF S| 6,600 0 6,600
OF= & &X 1,600,000 = 1CH 1,600
OMAZ2EE CCTV & X 2,500,000 «2LH 5,000
DHAIE EtHA 54,258 76,674 N22,416
101 21 214| 18,138 42,954 N24 816
04 JIZtHIZ22XNSE S 18,138 42,954 N24 816




2N SAERED
HHM: SMSZHAIE 2 (sgdldadt/sY - 52)
el SUSEHAE 29 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oxg&e 8,061
-Jl2= 60,2403 2H x30 23] 7,229
-AEE J|&aEg=2 7,229,000& *11.5% 832
OsMNZEEZHAIE 3 EH| 10,077
=23 60,2403 x2H 20! 3 7,229
=54 60,2403 x2H * 123 1,446
P R Ee 60,240& x2% 3 362
“AEE J|l28<2 9,037,000 *11.5% 1,040
201 LEt2 Y| 12,140 9,740 2,400
01 AR 22| I 12,140 9,740 2,400
O1. 98284 12,140
~AS () RY 760,000 93l 6,840
AW HBEYFES +BAN
200,000& *23| 400
-2axeld HS=x 1,000,000& *x13] 1,000
-ol=22 HA= 1,500,000& x13] 1,500
-E A2 HAEE 7Y 200,000& «12& 2,400
206 I = bl 3,980 3,980 0
01 X2 bl 3,980 3,980 0
O a8 57 6,000& *80kg 480
O XM2Id &FHM7Y 7,000& *404 280
O Kl J 25,000& *12kg 300
=5 2 X3 F AHES Hs72Y
10,000& 200 &£ 2,000
Oz % 238 AH72Y 920
-l 8,000& x40 320
-& S 10,000 404 400
Kl = Hl 10,0003 20 200
401 Al HI L 2T 20,000 20,000 0
01 A& HI 20,000 20,000 0
OsAETHAIEW =8 ZF3 =+ g2
10,000, 000& 23] 20,000
N2 RS H23 160,870 100,890 59,980
201 LEt2 A Y| 132,990 98,010 34,980
01 At 22l Yl 110,380 75,400 34,980
O1.28t=2H| 107,910
~COAE EEE BHES HE S dEt+=gH|
1,350,000& 1,350
-E0lsAE UHEY A2
320,000 x 1201 & S *x243] 92,160
-E0lsAE MY AN A2 Y
50,000& * 1201 S S 243 14,400




2N SAERED
HH: sUSTHAE 2 (sl d/s5Y - &)
e SMSEZUHAE 2Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03.28=¢ 1,190
=28 2EARE A=Y
70,000 x5H 13 350
-AlE2e 2R3 A=Y
70,000 »4H »33] 840
O5.=2 &l 1,280
-E0tsA2 ANMHAHAA AEH MEZRA
=Ea 8,000& »4H x40 1,280
02 =224l 22,610 22,610 0
O1.2Z22SZHA 5,760
B E2A ANERL AHUOIER
480,000 x12& 5,760
O3. A& & Hl s Xt 16,850
“CHAIE HAHEEANAE RRES 16,850
CHHBEZAAIAE (H/W)
94,020,000 *10%*1. 1 10,343
HeNHEZAAIAE(S/W)
41,200,000 *13%1. 1 5,892
R E EEAMAE
4,300,000 *13%1.1 615
202 o4dl 1,680 1,680 0
01 = LH o4 1l 1,680 1,680 0
ORsS M2u] ¥ TUHAIE FMg o &40
=l 60,0003 x4 7 1,680
301 et d = 1,200 1,200 0
09 HALAHIE& S 1,200 1,200 0
OREEALA B XY TOHAIE HE 2 RS
HdENs A0 60,0003 *10H x 12«23 1,200
401 Al HI L 2 THHI 25,000 0 25,000
01 A& HI 25,000 0 25,000
OHAHBEEZLAIAE 2= 25,000,000 14 25,000
BHSYYH (SABRS])(OIEH/IIE) 268,413 257,616 10,797
ol 2| 141,899 137,874 4,025
AEA2AH| 141,899 137,874 4,025
101 @144 Hl 141,899 137,874 4,025
02 JIEt& B == 141,899 137,874 4,025
ORI E 141,899
== 3,384,900 x2H x12& 81,238
-H2sd 81,237,600 *1/12 6,770
-H2Etts 2,880
© 253014 130,000& x1H «12& 1,560
© 203 0l &b ~25E 0] et 110,000& 1H 128 1,320
“A2EA2 R 10, 1312 «2P #«45A] 2t 123 10,942

_16_




SN SABRSD
I WY YT (SABREM)OIE/IIE)
& o 2d|
SA BB O () - MM - HES il
Ot 2R2g 27,0162 x2H x3652 x1/2 9,861
-5222FH 81,4373 x2H «119%1/2 9,692
“bEsE 1,440
b < Kt 40,0003 x2H x12& 960
JIEFIHE 20,0003 x2H 128 480
2AENSE () 30,0003 x1H«128 360
= 140,000 x2H 123 3,360
-fHere sl 50,0003 x2H x12& 1,200
-Z M Z Al 130,000& x2H «12& 3,120
-ZE FOHI 81,237,600& *1/12%60%*23| 8,124
- O &k
81,237,600 *1/12%86%+1/30% 15 2,912
Jl23l 126,514
fN2EH 44,194
201 L2l 44,194
01 At 22|l 32,850
ORAN2Y Let=EH| 3,970,000& 3,970
ORA2Y =2l 1,512,000& 1,512
O=SADl Xt 132,000 »2CH 122 3,168
Og Al 24,200
-2 A 50,0003 x 1 119 5,950
-= 3 50,0003 x 1 «3652 18,250
02 3322l 11,344
ORN2YE 23223 2,016,000& 2,016
OXEMA SIS 3,350
XS XA 50,000 = 1CH 50
-AsHEE 500,000 = 1CH 500
==l FaE == 1,400, 000& *23| 2,800
OZHCIGIH A=H(ZH 4, SL2Ad S)
1,100& 14 =120 «10Al 2t +20H 2,640
OstE(ad) 3,338,000 = 1CH 3,338
AR FE N 78,120
202 oddl 78,120
01 = LH o4 1l 78,120
OFRARFAAHH 20,0003 *21H 15 «12& 75,600
OdZUEZRX0EH 20,0002 * 14«32 »3& 2,520
R =2l 4,200
203 H R =&l 4,200
YV EEEEEST 4,200
OFNSILL =T (BB 21, BRZE:2)
350,000& »12& 4,200




